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	1.
	        is a pictorial representation of an algorithm.

	
	(A)
	A UML diagram
	(B)
	A program
	(C)
	Pseudocode

	
	(D)
	An algorithm
	
	
	
	

	2.
	In the         graph method of representing an image in a computer, the image is decomposed into a combination of geometrical figures.

	
	(A)
	bitmap
	(B)
	vector
	(C)
	quantized

	
	(D)
	binary
	
	
	
	

	3.
	        is a stand-alone storage location that holds data temporarily

	
	(A)
	An ALU
	(B)
	A register
	(C)
	A control unit

	
	(D)
	A tape drive
	
	
	
	

	4.
	The         layer of the TCP/IP protocol suite is responsible for source-to-destination delivery of the entire message.

	 
	(A)
	transport 
	(B)
	network
	
	

	 
	(C)
	data-link
	(D) 
	session
	
	

	5.
	We use a         search for an unordered list.

	
	(A)
	sequential
	(B)
	binary
	
	

	
	(C)
	bubble
	(D)
	insertion
	
	

	6.
	A         is a storage device to which the user can write information only once.

	 
	(A)
	CR-ROM
	(B)
	CD-R
	(C)
	CD-RW

	 
	(D)
	all of the above
	
	
	
	

	7.
	Which of the following is not a sentence in propositional logic:

	
	(A)
	Ford is a car
	(B)
	If A sleeps then A eats
	(C)
	True

	
	(D)
	Where is John?
	
	
	
	

	8.
	In entity authentication, handwriting is          .

	
	(A)
	something known
	(B)
	something possessed
	(C)
	something inherent

	
	(D)
	none of the above
	
	
	
	

	9.
	If you want to delete an attribute in a relation, you can use the           operation

	
	(A)
	join
	(B)
	project
	(C)
	union

	
	(D)
	intersection
	
	
	
	

	10.
	Snooping is a type of attack that threatens         .

	
	(A)
	confidentiality
	(B)
	integrity
	(C)
	availability

	
	(D)
	none of the above
	
	
	
	

	11.
	AES is an example of a modern         .

	
	(A)
	symmetric-key cipher
	(B)
	asymmetric-key cipher
	(C)
	hashing function

	
	(D)
	none of the above
	
	
	
	


	12.
	In entity authentication, a password is          .

	
	(A)
	something known
	(B)
	something possessed
	
	

	
	(C)
	something inherent
	(D)
	none of the above
	
	

	13.
	A         document has fixed contents.

	
	(A)
	static
	(B)
	dynamic
	(C)
	active

	
	(D)
	all of the above
	
	
	
	

	14.
	        is a protocol for file transfer

	
	(A)
	FTP
	(B)
	SMTP
	(C)
	TELNET

	
	(D)
	HTTP
	
	
	
	

	15.
	IP addresses in IPv4 are         bits in length

	
	(A)
	4
	(B)
	8
	(C)
	32

	
	(D)
	any of the above
	
	
	
	

	16.
	The         layer of the TCP/IP protocol suite is responsible for node to node delivery of a frame between two adjacent nodes.

	
	(A)
	transport
	(B)
	network
	(C)
	data-link

	
	(D)
	session
	
	
	
	

	17.
	For the binary        operator, if the input is two 1s, the output is 0.

	
	(A)
	AND
	(B)
	OR
	(C)
	XOR

	
	(D)
	all of the above
	
	
	
	

	18.
	The precision of the factional number stored in a computer is defined by the        .

	
	(A)
	sign
	(B)
	exponent
	(C)
	mantissa

	
	(D)
	any of the above
	
	
	
	

	19.
	In two’s complement representation with a 4-bit allocation, we get        when we add 1 to 7.

	
	(A)
	8
	(B)
	1
	(C)
	-7

	
	(D)
	-8
	
	
	
	

	20.
	C, C++, and Java can be classified as        language.

	
	(A)
	machine
	(B)
	symbolic
	(C)
	high-level

	
	(D)
	nature
	
	
	
	

	21. 
	A        program can be either an application or an applet.

	
	(A)
	FORTRAIN
	(B)
	C++
	
	

	
	(C)
	C
	(D)
	Java
	
	

	22.
	       is an ordered collection of data in which each element contains the location of the next element.

	
	(A)
	An array

	(B)
	A record
	(C)
	A linked list

	
	(D)
	All of the above
	
	
	
	

	23.
	In a three-level DBMS architecture, the layer that interacts directly with the hardware is the        level.

	
	(A)
	external
	(B)
	conceptual
	(C)
	internal

	
	(D)
	physical
	
	
	
	

	24.
	A control bus with eight wires can define        operations

	
	(A)
	8
	(B)
	16
	(C)
	256

	
	(D)
	512
	
	
	
	

	25.
	       is a protocol for e-mail service

	
	(A)
	FTP
	(B)
	SMTP

	
	(C)
	TELNET
	(D)
	HTTP
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